X & 4 TR28FEEZPRINRZEFRFHRAE
1 @8 % 1 HE EEHH/\IE Hi5 201645R 128
F—L 1 2 3 4 5 6 7 8 | 9 | &t
CER 0 0 0 0 0 0 0 TEA—ILE 0
FEm 2 0 1 0 0 1 3x 7
T—JIL
F—Lo | ITH | RIT | 8837 | W% | =ik | B2 | B2 | KK | 6% | Bk
B8R 21 2 1 1 7 0 2 3 0 1
FEm 31 9 0 3 0 3 8 1 0 0
NyTY—
F—LI ® F wW O F
—EBR EERE  (6-1/3) EREK
FER BERKK  (6) INFETR S (1) BT BB A%
k # = ¥
ARET: L KE FEiDIEEA
=847 MEE. (ER) —8 =SATEEA
ZEIT MMEE. WEKE (FRE®) -8 14 15 BA
=82 — /B8RS
= Sl 520
XK= 4 TRH28FEEZPRINRSEFRFHRAER
2 [mE g£__ 2#A SENIT/\E K15 201645A 128
F—LI 1 2 3 4 5 6 7 9 &t
TREE 0 0 0 0 0 0 0 0
Btk 0 0 0 1 0 0 x 5
TN
F—Lo | ITH | RIT | B3 | W% | =ik | B2 | B2 | &% | 6% | &E
€RE%E | 30 4 0 1 5 0 4 0 1
Bk 30 7 1 10 8 0 12 0
NyT)—
F—L ® F B F
EREBE | BEBALH o3 THKE (223 EERE 1/ =
Ak REAEE  (9) ATEERA
k # = ¥
AREIT: L KE 1 BB
=87 HL —8 AREE
ZET: BRRE RIEE (B EAKBE. REHEN(SEEEF) -8 ERRREX
=8 iR 520
= =iAHEsA




XK= 4 FH28FEEFEFHRMXSFZRERRE

1 @ = CFEBLREDT L 201658128
F—LI 1 2 6 7 £t
HE 0 0 1 0 2
B F 0 0 1 0 1
T—JIL
F—Lo | T8 | =T | 83T BE| BE | &K
E 31 8 2 7
B F 30 8 2 10

NyTY—
F—LI # F wW O F
wE HEET (9 T HEKER
== E3] 2WEE  (8) (1) R
£ #
ARE4T: L [RERE
=847 AL R —35A
ZEIT RHABEGR) . ERIEX., =k (B INFFLE
RKHE
BRERM
XK= 4 TRH28FEEZPRINRSEFRFHRAER
2 [EE g£__ 2#A CEBLREAVT L 201645 A 128
F—L 1 2 3 6 7 8 | 9 | &t
MESE 0 0 0 0 0 1
BT 2 2 2 1 X 9
T—IL
F—Lo | T8 | =T | 837 BE | BE | &K

MHESE | 28 4 2 1 7 4

BRI 28 12 3 1 6 1

NyT)—

F—L ® F B F

MESE EREBE (6 =L RBA

HFAIE | KHRARK 41/3) (1-2/3, BRED 1EkE

k # = ¥

AREIT: L HE FH—1E

=847 %A BOE KM LIB(BAITE) —8 BREREM

ZEIT EEELEBRCACGRIMES (BAIE) -8 INE B4

=8 O
= KHE




